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QUESTION NO: 1

Which of the following is NOT a Key characteristic of a collaborative relationship type?

A. Communication

B. Cooperation

C. Transparency

D. Trust

ANSWER: C 

QUESTION NO: 2

Which of the large pubic cloud providers created Kubernetes?

A. IBM Cloud 

B. Microsoft Azure 

C. Amazon web Services

D. Google Cloud Platform

ANSWER: D 

QUESTION NO: 3

Which of the following BEST describes why Agile teams aim for a work pace that they would be awe to sustain indefinitely?

A. Teams feel creative and energized only up to 40 hours per week or so 

B. Overtime lends lo mash schedule management or quality deficiencies

C. An Agile mindset insists on principles and a manifesto with lofty ideals.

D. Committing to more work means less tone to spend playing games

ANSWER: A 

QUESTION NO: 4
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A successful but traditional brick-and-mortar enterprise is planning a DevOps transformation to improve flow in their value 
streams. When two of the following BEST reflect the CORRECT approach when working together?

1. Avoid local optimization

2. Apply systems thinking

3. Increase task switching

4. Maximum current culture

A. 1 and 2

B. 2 and 3

C. 3 and 4

D. 1 and 4

ANSWER: C 

QUESTION NO: 5

Which of the following BEST describes how a commitment to embrace change is driven by continual improvement efforts?

A. DevOps stakeholders are open to improving activities and practices when changes are found to make things better

B. Leaders and teams that are not familiar with process improvement techniques have a hard time sustaining it.

C. Technology continually changes and IT people must keep up with these changes or risk becoming obsolete.

D. IT professionals understand that the third way of DevOps means experimentation should be the preferred approach

ANSWER: A 
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